
Select the appropriate choice: The ______ cleaner comes with different attachments.

A. Vacuum B. Vacum

C. Vaccuume D. Vacuume

Select the appropriate option 
A _______________ of cattle had strayed onto the road.

A. Herd B. Heard

C. Head D. Hurd

A. Road B. Regret

C. Deep D. Cotton

A. Violence B. Hatred

C. Anger D. Courage
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Find synonym or similar meaning for the following word 'Rue'

Find synonym or similar meaning for the following word 'Wrath'



Select the choices that have a similar meaning to the bold word in the sentence provided: Kapil Dev is a renowned cricket player.

A. Popular B. Disrespect

C. intelligent D. Brave

A. Left B. Arrived

C. Vanished D. Gone

A. Great B. Breathe

C. Exhale D. Live

Choose the correct option. Which option represents a common noun?

A. Ariel B. Volkswagen

C. Mercedes D. Powder

Select the choices that have a similar meaning to the bold word in the sentence provided: My sibling was an intelligent student.

A. Miser B. Bright

C. Disrespect D. Bold

Question: 5 of 50 Marks: 1QID: 22073

Question: 6 of 50 Marks: 1QID: 22074

Question: 7 of 50 Marks: 1QID: 22075
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Fill in blanks with the correct antonym of the given word.'Departed'

Fill in blanks with the correct antonym of the given word. 'Inhale'



How many abstract nouns are correctly represented in the given sentence? 
The truth is that under his captaincy they always won.

A. One B. Two

C. Three D. Four

 'The sun rises in the east'
Identify the type of the sentence given above

A. Assertive B. Negative

C. Imperative D. Interrogative

What will you eat?
Identify the type of the sentence given above

A. Assertive B. Negative

C. Imperative D. Interrogative

Get Out
Identify the type of the sentence given above

A. Interrogative B. Negative

C. Imperative D. Assertive

Question: 10 of 50 Marks: 1QID: 22078
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Question: 12 of 50 Marks: 1QID: 22080
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Read the passage.
Blooms  in  Death  Valley

In March 2016, Death Valley National Park in California experienced a rare occurrence: thousands of yellow wildflowers covered the
region in a "super bloom." Why was this unusual? Death Valley is the hottest and driest place in North America. The area's average
yearly precipitation is just two inches, making it a challenging place for flowers to grow. However, in October 2015, the valley had
received more than three inches of rain in some areas. As a result of the unusually wet season, wildflower seeds that had been lying
dormant underground suddenly began to grow, producing an abundance of golden blooms.

What is the main, or central, idea of the passage? 

A. Because of the hot, dry conditions in Death Valley, it is
difficult for flowers to grow there.

B. Death Valley is not a good tourist destination in North
America

C. Because of an unusual amount of rain, thousands of
wildflowers grew in Death Valley in 2016.

D. Death Valley have unusually wet season

Read the text.
 
Load the laundry into the washing machine and close the door tightly. Make sure not to overload the machine. Next, slide open the
detergent drawer, add detergent, and then slide the drawer shut. Select the wash setting (whites or darks), temperature (hot, warm, or
cold), and load size (small, medium, or large). Then, press the start button. The washing machine will stop automatically when the wash
cycle is complete.

Which author's purpose is suggested by the text?
 

A. to inform readers about the benefits of different
temperature settings

B. to teach readers how to operate a washing machine

C. to inform readers about the benefits of washing clothes
regularly

D. to letreaders how to buy a washing machine

Select the passage that has a more hopeless tone.

A.For two years she had worked earnestly and faithfully, making many mistakes and learning from them. 
She had been rewarded. She had taught her students something, 
but she felt that they had taught her much more— lessons of tenderness, self- control, and innocent wisdom.

B.This was what would happen: when she was older, she would be expected to labor in the schoolroom 
as she labored now in various parts of the house. That was all there seemed to be to look forward to.

Adapted from Lucy Maud Montgomery, Anne of Avonlea and Frances Hodgson Burnett, A Little Princess

A. A B. B

C. both A & B have same tone D. both A & B don't have a hopeless tone.
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Identify the grammatically accurate sentence among the following options.

A. Mary said that her cousin, Nini, will visit her on Sunday. B. Mary said that her cousin Nini will visit her on Sunday.

C. Mary said that, "her cousin Nini will visit her on Sunday. D. Mary said that her cousin Nini will visit on her Sunday

Choose the option where the speech has been changed correctly in each sentence. 
The teacher tells Rob, "Learn to respect you parents."

A. "The teacher told Rob that he should learn to respect his
parents."

B. The teacher tells Rob to respect his parents.

C. The teacher tells Rob to learn to respect his parents. D. The teacher advised Rob to learn to have respect for his
parents.

Which option has the potential to be expressed in the past tense?

A. Exit B. Hit

C. Fit D. Sit

Fill in the blank 
Can you tell me who _____ this institution?

A. Find B. Found

C. Founded D. Finds

Select the correct tense form in the following sentence. 
She is coming next week.

A. Present Continuous B. Past

C. Past perfect D. Past Continuous
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Interpret the following sentence. What is the significance of the expression "it takes two to tango" in this context? 
'You can't blame Kalpana alone, it takes two to tango.'

A. Both the partners must dance together B. Both the partners are equally involved

C. Both the partners don't share equal blame D. All of the above

Fill correct options in the blank to make the conversation complete and meaningful. 
Patrick: Sir, that bag you're carrying belongs to me. 
Bob: ________.

A. Yours looks like mine, what can I do? B. Pardon, check before you speak!

C. I'm so sorry, I didn't mean to. D. You should keep your bag always with you

Which option is an adjective?

A. Blow up B. Make up

C. Fed up D. Break up

Which option is an adjective?

A. Self-awareness B. Self-appraisal

C. Self-analysis D. Self-reliant

Fill correct option in the blank to make the conversation complete and meaningful. 
Customer: Please give me two dozen rissoto 
Counter boy: For eating, sir? 
Customer: .......................................

A. No, for throwing B. No, for planting

C. No, just for looking at D. Of course, pack nicely
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Fill correct option in the blank to make the conversation complete and meaningful. 
Mother: How was the movie? Did you like it ? 
Son: ________.

A. Oh! I felt quite at home B. It was good; like being in our neighbourhood

C. It was good as I saw many animals which I had seen only
on the T.V.

D. Yes, I did. No animal scolded me when I spilled my ice
cream or even when the pop- corn fell all over.

Which sentence is more formal?
 
A. The manufacturing department approved the new packaging for the medicine.
B. The manufacturing department gave the green light to the medicine's new packaging.

A. both A and B are equally formal B. both A and B are informal

C. B D. A

Fill correct options in the blanks to make the conversation complete and meaningful. 
What a lovely place this Hyde park is. 
Fellow visitor: ____________.

A. Yeah, very much. I come here always to hid from the
police

B. Looks like you are not a local

C. I am happy to learn that someone else like you too
enjoys this park equally well like I do

D. Exactly, they should charge an entry fee, so that it doesn't
get so crowded and noisy.

When does a basketball team complete its pregame warm- up?

A. right before the game begins B. right before halftime begins
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Carefully review the passage and respond to the questions based on it. 

The creation of stars is underpinned by a straightforward physical principle: gravitational instability. This concept isn't novel; Newton
initially grasped it in the late 17th century. Envision a uniform, motionless gas cloud in space. Picture this gas getting disturbed, leading
to the formation of a slightly denser spherical area within it. Consequently, the stronger gravitational field of this small region begins
attracting more matter towards it, intensifying its gravitational pull.This causes it to initiate a contraction. As the region contracts, its
density rises, amplifying its gravitational force further, resulting in the accumulation of more matter and subsequent further contraction.
This progression persists until the initial gas region transforms into a gravitationally bound object. 

Q. The main aim of the passage is to:

A. Describe a static condition B. Illustrate the consecutive phases of a phenomenon

C. Demonstrate the evolution of the meaning of a term D. None of the above

Carefully review the passage and respond to the questions based on it. 

The creation of stars is underpinned by a straightforward physical principle: gravitational instability. This concept isn't novel; Newton
initially grasped it in the late 17th century. Envision a uniform, motionless gas cloud in space. Picture this gas getting disturbed, leading
to the formation of a slightly denser spherical area within it. Consequently, the stronger gravitational field of this small region begins
attracting more matter towards it, intensifying its gravitational pull.This causes it to initiate a contraction. As the region contracts, its
density rises, amplifying its gravitational force further, resulting in the accumulation of more matter and subsequent further contraction.
This progression persists until the initial gas region transforms into a gravitationally bound object. 

Q. It can be deduced from this passage that the author regards the information presented as:

A. Lacking in elaboration B. Original but obscure

C. Speculative and unprofitable D. Straightforward and conventional

Carefully review the passage and respond to the questions based on it. 

The creation of stars is underpinned by a straightforward physical principle: gravitational instability. This concept isn't novel; Newton
initially grasped it in the late 17th century. Envision a uniform, motionless gas cloud in space. Picture this gas getting disturbed, leading
to the formation of a slightly denser spherical area within it. Consequently, the stronger gravitational field of this small region begins
attracting more matter towards it, intensifying its gravitational pull.This causes it to initiate a contraction. As the region contracts, its
density rises, amplifying its gravitational force further, resulting in the accumulation of more matter and subsequent further contraction.
This progression persists until the initial gas region transforms into a gravitationally bound object. 

Q. Which alternative word can substitute for the term 'uniform' as used in this passage?

A. Varying B. Variety

C. Gaseous D. Unvarying

Question: 31 of 50 Marks: 1QID: 22099

Question: 32 of 50 Marks: 1QID: 22100

Question: 33 of 50 Marks: 1QID: 22101
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For which concept does the underlined word 'it' serve as a reference in the passage?

A. Gravitational instability B. Cloud of gas

C. Small spherical denser region D. Matter

Carefully review the passage and respond to the questions based on it. 

The creation of stars is underpinned by a straightforward physical principle: gravitational instability. This concept isn't novel; Newton
initially grasped it in the late 17th century. Envision a uniform, motionless gas cloud in space. Picture this gas getting disturbed, leading
to the formation of a slightly denser spherical area within it. Consequently, the stronger gravitational field of this small region begins
attracting more matter towards it, intensifying its gravitational pull.This causes it to initiate a contraction. As the region contracts, its
density rises, amplifying its gravitational force further, resulting in the accumulation of more matter and subsequent further contraction.
This progression persists until the initial gas region transforms into a gravitationally bound object. 

Q. The information presented by the author addresses which of the following inquiries? 
(1) What leads to the disturbances altering the cloud from its initial motionless state? (2) How does the growing density of this small
region impact its gravitational field? (3) What is the eventual outcome of the incremental concentration of the gas's small region?

A. 1 only B. 2 only

C. 2 and 3 D. 1,2 and 3

Carefully review the passage and respond to the questions based on it. 

The creation of stars is underpinned by a straightforward physical principle: gravitational instability. This concept isn't novel; Newton
initially grasped it in the late 17th century. Envision a uniform, motionless gas cloud in space. Picture this gas getting disturbed, leading
to the formation of a slightly denser spherical area within it. Consequently, the stronger gravitational field of this small region begins
attracting more matter towards it, intensifying its gravitational pull.This causes it to initiate a contraction. As the region contracts, its
density rises, amplifying its gravitational force further, resulting in the accumulation of more matter and subsequent further contraction.
This progression persists until the initial gas region transforms into a gravitationally bound object. 

Q. Who gave the concept of gravity?

A. Newton B. Bernini

C. Galileo D. None of these

Question: 34 of 50 Marks: 1QID: 22102

Question: 35 of 50 Marks: 1QID: 22103

Question: 36 of 50 Marks: 1QID: 22104
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Carefully review the passage and respond to the questions based on it. 

The creation of stars is underpinned by a straightforward physical principle: gravitational instability. This concept isn't novel; Newton
initially grasped it in the late 17th century. Envision a uniform, motionless gas cloud in space. Picture this gas getting disturbed, leading
to the formation of a slightly denser spherical area within it. Consequently, the stronger gravitational field of this small region begins
attracting more matter towards it, intensifying its gravitational pull.This causes it to initiate a contraction. As the region contracts, its
density rises, amplifying its gravitational force further, resulting in the accumulation of more matter and subsequent further contraction.
This progression persists until the initial gas region transforms into a gravitationally bound object. 

Q. Choose one word substition of the following sentence:
A political representative of the highest order from a country to another

A. Bankrupt B. Novoice

C. Eccentric D. Ambassador

Carefully review the passage and respond to the questions based on it. 

The creation of stars is underpinned by a straightforward physical principle: gravitational instability. This concept isn't novel; Newton
initially grasped it in the late 17th century. Envision a uniform, motionless gas cloud in space. Picture this gas getting disturbed, leading
to the formation of a slightly denser spherical area within it. Consequently, the stronger gravitational field of this small region begins
attracting more matter towards it, intensifying its gravitational pull.This causes it to initiate a contraction. As the region contracts, its
density rises, amplifying its gravitational force further, resulting in the accumulation of more matter and subsequent further contraction.
This progression persists until the initial gas region transforms into a gravitationally bound object. 

Q. Choose one word substition of the following sentence: 
A person who cannot pay off debts

A. Novoice B. Bankrupt

C. Altruist D. Eccentric

Which point of view does the narrator use in the passage?

I like the sound of Rowdy's laughter. I don't hear it very often, but it's always sort of this avalanche of ha- ha and ho- ho and hee- hee. I
like to make him laugh. He loves my cartoons. He's a big, goofy dreamer, too, just like me.

A. first person B. second person

C. third person D. not enough information to deduce

Question: 37 of 50 Marks: 1QID: 22105

Question: 38 of 50 Marks: 1QID: 22106

Question: 39 of 50 Marks: 1QID: 22107
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Read the text.

Eutrophication, part of the natural aging process for bodies of water such as ponds or lakes, occurs due to a buildup of nitrates and
phosphates over time. These compounds, often found in fertilizers, are plant nutrients that stimulate the growth of plants and algae in
the water. As the amount of plant matter in the pond increases, more plants start to die off. Bacteria that decompose the dead plants
also consume the oxygen in the water, so fish and other water animals soon die for lack of oxygen. The pond eventually becomes
choked with plant matter and grows shallower. Ultimately, as shrubs grow where water once was, the pond dies.

Which organizational structure does this text primarily use?

A. problem-solution B. cause-effect

C. compare-contrast D. sequential

Read the source of the allusion.

John Hancock was a leader during the American Revolution. He is remembered for writing his name in large letters on the Declaration of
Independence.

What is the meaning of the allusion in the sentence below?

Put your John Hancock here on the form, please.

A. a person's address B. a person's mobile number

C. a person's signed name D. a person's age

Guess the figure of speech in the sentence 
The hair of Cinderella are like a vine.

A. Simile B. Metaphor

C. Personification D. Hyperbole

Select the helping verb.
A strong gust of wind could topple our little tent.

A. gust B. could

C. topple D. strong

Question: 40 of 50 QID: 22108

Question: 41 of 50 QID: 22109

Question: 42 of 50 Marks: 1QID: 22110

Question: 43 of 50 Marks: 1QID: 22111
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Complete the sentence with the correct homophone.

During Les  Misérables 's  tense  battle  scene,  cast  members  ran  up  and  down  the  theater's  center ___________

A. I'll B. isle

C. aisle D. eel

Read the following text from a student essay. How can the writer best improve his or her grammar and mechanics?

When I'm asked to name my favorite teacher, I immediately think of Mr. Sweeney. In fifth grade, Mr. Sweeney taught us all about
architecture he had the class start by learning to measure things very accurately. We studied environmentally friendly building methods,
and we designed and built our own homes of the future. Mr. Sweeney was always fun and interesting, he believed that we could do more
than we thought we could do. He helped me break boundaries in my life, he was a positive influence on me and will always be one of the
most inspirational people in my life.

A. by varying sentence length B. by using correct verb tenses

C. by fixing run- on sentences D. by combining sentences containing related information

Complete the text with the correct word.

Extremophiles  are  organisms  that  can  survive  in  environments  that  are_____ extreme  for  other  organisms.  Thermophiles,  for 
instance,  are  extremophiles  that  thrive  in  extreme  heat.

A. to B. two

C. too D. hereto

Choose the correct sentence in the passive form: 
The little girl asked her mother, "Did the sun rise in the East?"

A. The little girl said to her mother if that the sun rise in the
East.

B. The little girl asked her mother if the sun rose in the East.

C. The little girl said to her mother if the sun rises in the
East.

D. The little girl asked her mother, if the sun is in the East.

Question: 44 of 50 Marks: 1QID: 22112
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Question: 46 of 50 Marks: 1QID: 22114

Question: 47 of 50 QID: 22115
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Choose the correct option 
My uncle gave me a _____ of crayons.

A. Box B. Bunch

C. Bouquet D. Group

Complete the conversation 

Amy: How do you like staying in Saudi Arabia? 
Andy: I am not enjoying it. Especially the _________ of Saudi Arabia. It's so hot here. 

The correct option to complete the conversation is:

A. Cactus B. Climate

C. Breeze D. Noise

Read the source of the allusion.

In one of Aesop's fables, a man comes across a hungry lion with a thorn in its paw. Instead of running away in fear, the man removes the
thorn. The grateful lion thanks him, and they become friends.
What is the meaning of the allusion in the sentence below?

After Seth's sister helped him, Seth realized his homework was the thorn in the lion's paw.
 

A. helping wild animals B. being a vet

C. a difficulty that brings people together D. something standing in someone's way

Question: 48 of 50 Marks: 1QID: 22116

Question: 49 of 50 Marks: 1QID: 22117

Question: 50 of 50 QID: 22118
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Page 13 of 13 Print ID: 20242104312395

Marks:1




